

DIGITAL ENGINEERING & IMAGING, INC.

November 13, 2023

Mr. Jon McCraw City Manager City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Re:

Engineering Master Services Agreement (2021)

Work Assignment No. 3 Beaux Vue Ph. 2 Drainage Improvements

DE Invoice No.: 730-1001-40

Dear Mr. McCraw:

Attached please find Invoice No. 40 for professional services on the above referenced project in the amount of \$579.50 in accordance with our agreement.

Should you have questions or need additional information, please contact our office.

Sincerely,

DIGITAL ENGINEERING

L. Bruce Newton, P.E., M.B.A.

L. Brue Ne tor

President

LBN/chc

cc: Mr. Robert J. Delaune

**Enclosures** 

## Digital Engineering & Imaging, Inc.

City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

5300 Diamondhead Diamondhead, MS	Circle			November Project No: Invoice No:	B730100	1.000
Project Professional Servi	B7301001.000 ices from Octo		Diamondhead Maste ctober 28, 2023	er Services Agree	ement 2021	
Phase	003	Beaux Vue Ph.	2 Drainage Improve	ments		
Task	20	Design				
Professional Person	onnel					
			Hours	Rate	Amount	
Stein, Johr	1		2.00	145.00	290.00	
	Totals		2.00		290.00	
	Total Labor					290.00
Billing Limits			Current	Prior	To-Date	
<b>Total Billings</b>			290.00	22,322.50	22,612.50	
Limit					22,612.00	
Adjustmer	nt					50
				Total th	is Task	\$289.50
Task	30	Bidding				
Professional Perso	onnel	J				
			Hours	Rate	Amount	
Stein, John	ı		2.00	145.00	290.00	
	Totals		2.00		290.00	
	<b>Total Labor</b>					290.00
Billing Limits			Current	Prior	To-Date	
<b>Total Billings</b>			290.00	0.00	290.00	
Limit					1,500.00	
Remaining					1,210.00	
				Total th	is Task	\$290.00
				Total this	Phase	\$579.50
Billings to Date						
		Current	Prior	Total		
Fee		0.00	4,345.00	4,345.00		
Labor		579.50	22,322.50	22,902.00		
Totals		579.50	26,667.50	27,247.00		
				Total this I	Invoice	\$579.50

Project	B7301001.000	DIAMON_Master S	Services Agreem	ent 21	Invoice	40
Billing	g Backup				Manday Navasa	h 40, 0000
	gineering & Imaging, Inc.	In	voice 40 Dated	11/13/2023	Monday, Novem	
	,		Voice 40 Bated	11/13/2023		4:19:26 PM
Project	B7301001.000	City of Diamo	ondhead Master	Services Agree	ement 2021	
Phase	003	Beaux Vue Ph. 2 Dra	inage Improvem	ents		
Task	20	Design				
Profession	nal Personnel					
			Hours	Rate	Amount	
0111	30 - Stein, John	10/11/2023	1.50	145.00	217.50	
0111	30 - Stein, John	10/13/2023	.50	145.00	72.50	
	Totals		2.00		290.00	
	Total Labor					290.00
				Total th	is Task	\$290.00
<b>– – – .</b> Task		Bidding				
Profession	al Personnel	J				
			Hours	Rate	Amount	
0111	30 - Stein, John	10/17/2023	.50	145.00	72.50	
0111	30 - Stein, John	10/23/2023	.50	145.00	72.50	
0111	30 - Stein, John	10/25/2023	1.00	145.00	145.00	
	Totals		2.00		290.00	
	Total Labor					290.00
				Total th	is Task	\$290.00
				Total this	Phase	\$580.00
				Total this	Project	\$580.00
				Total this	Report	\$580.00



DIGITAL ENGINEERING & IMAGING, INC.

November 13, 2023

Mr. Jon McCraw City Manager City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Re: Engineering Master Services Agreement (2021)

Work Assignment No. 4 Roadway Improvements Phase 4

DE Invoice No.: 730-1001-41

Dear Mr. McCraw:

Attached please find Invoice No. 41 for professional services on the above referenced project in the amount of \$1,122.50 in accordance with our agreement.

Should you have questions or need additional information, please contact our office.

Sincerely,

**DIGITAL ENGINEERING** 

L. Bruce Newton, P.E., M.B.A.

L. Brue Rentor

President

LBN/chc

cc: Mr. Robert J. Delaune

**Enclosures** 

## Digital Engineering & Imaging, Inc.

City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

November 13, 2023

Project No:

B7301001.000

Invoice No:

ro	1	-	
U	ш	CI	

B7301001.000

City of Diamondhead Master Services Agreement 2021

<u>P</u>	roi	es	SIO	na	13	er	VIC	es	tro	<u>om</u>	O	<u>ctc</u>	be	r 0	1,	202	23	to	Oc	:to	bei	2	8, 2	202	23
_	_	_	_	_	_	_	_	_	_	_	_	_	-	_	_	_	_	_	_	_	_	_		_	_

Phase	004	Roadway Improv	ements Phase 4			
Task	45	Resident Inspect	tion			
Professional Person	onnel	•				
			Hours	Rate	Amount	
Boynes, Cl	inton		14.00	75.00	1,050.00	
Stein, John	ı		.50	145.00	72.50	
	Totals		14.50		1,122.50	
	Total Labor					1,122.50
Billing Limits			Current	Prior	To-Date	
<b>Total Billings</b>			1,122.50	21,542.50	22,665.00	
Limit					27,375.00	
Remaining					4,710.00	
				Total th	is Task	\$1,122.50
				Total this	Phase	\$1,122.50
Billings to Date						
		Current	Prior	Total		
Fee		0.00	60,625.00	60,625.00		
Labor		1,122.50	21,542.50	22,665.00		
Totals		1,122.50	82,167.50	83,290.00		
				Total this	Invoice	\$1,122.50

Project	B7301001.000	DIAMON_Master Ser	vices Agreem	ent 21	Invoice	41
Billing	Backup				Manday Nave	-h 40 0000
	gineering & Imaging, Inc.	Invo	ice 41 Dated	11/13/2023	Monday, Noven	4:23:10 PM
10 20						4.23. TO FIVE
Project	B7301001.000	City of Diamono	thead Master	Services Agree	ement 2021	
Phase	004	Roadway Improvements	s Phase 4			
Task	45	Resident Inspection				
Profession	nal Personnel	1 And Secretaria Control Contr				
			Hours	Rate	Amount	
0143	80 - Boynes, Clinton	10/2/2023	2.00	75.00	150.00	
0143	80 - Boynes, Clinton	10/3/2023	3.00	75.00	225.00	
0143	80 - Boynes, Clinton	10/4/2023	4.00	75.00	300.00	
0143	80 - Boynes, Clinton	10/5/2023	5.00	75.00	375.00	
0111	30 - Stein, John	10/16/2023	.50	145.00	72.50	
	Totals		14.50		1,122.50	
	Total Labor					1,122.50
				Total th	is Task	\$1,122.50
					**************************************	
				Total this	s Phase	\$1,122.50
				Total this	Project	\$1,122.50
				Total this	Report	\$1,122.50



DIGITAL ENGINEERING & IMAGING, INC.

November 13, 2023

Mr. Jon McCraw City Manager City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Re:

Engineering Master Services Agreement (2021)

Work Assignment No. 7 Bond Paving Project

DE Invoice No.: 730-1001.007-09

Dear Mr. McCraw:

Attached please find Invoice No. 09 for professional services on the above referenced project in the amount of \$13,275.00 in accordance with our agreement.

Should you have questions or need additional information, please contact our office.

Sincerely,

**DIGITAL ENGINEERING** 

L. Bruce Newton, P.E., M.B.A.

L. Brue Mentor

President

LBN/chc

cc: Mr. Robert J. Delaune

**Enclosures** 

## Digital Engineering & Imaging, Inc.

City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

November 13, 2023

Project No:

B7301001.007

Invoice No:

9

Project	B7301001.007	<b>Bond Paving Project</b>
Professional S	ervices from October 01	, 2023 to October 28, 2023

Project Professional Ser	B7301001.007	Bond F	Paving Proj	ect . <b>2023</b>			
Phase Fee	010	Preliminary					
Billing Phase	•		Fee	Percei Complet		Previous Fee Billing	Current Fee Billing
Preliminary	Design	40.8	345.00	100.0	0 40,845.00	40,845.00	0.00
Design			150.00	100.0		136,150.00	0.00
Bidding			615.00	100.0		13,615.00	0.00
Construction	n Admin	75,0	00.00	8.266		4,600.00	1,600.00
Total Fee		265,6	310.00		196,810.00	195,210.00	1,600.00
			Total F	ee			1,600.00
					Total this F	Phase	\$1,600.00
Phase Professional Pers	045 sonnel	Resident Inspec	ction				
				Hours	Rate	Amount	
Bordes, P Boynes, C LeBreton,	Clinton			18.00 130.00 5.00 153.00	75.00 75.00 115.00	1,350.00 9,750.00 575.00 11,675.00	44 675 00
Dilling Limits	rotar Eupor						11,675.00
Billing Limits			Curren	0.77	Prior	To-Date	
Labor Limit			11,675.0	0	2,400.00	14,075.00 84,000.00	
Remaining	g					69,925.00	
					Tatal this D		*** *** ***
					Total this P	nase	\$11,675.00
					Total this In	voice	\$13,275.00
Billings to Date							
		Current		Prior	Total		
Fee		1,600.00	195,2		196,810.00		
Labor		11,675.00	2,4	00.00	14,075.00		
Totals		13,275.00	197,6	10.00	210,885.00		

Project	B7301001.007	DIAMON_Bond Pav	ring Project		Invoice	9
Billing	g Backup				Monday Nove	ember 13, 2023
10.5	gineering & Imaging, Inc.	In	voice 9 Dated	11/13/2023	Worlday, 1404	4:00:32 PM
Duningt	D7004004 007					
Project	B7301001.007	Bond Paving	Project			
Phase	045	Resident Inspection				
Professio	nal Personnel					
			Hours	Rate	Amount	
0078	70 - Bordes, Peter	10/26/2023	9.00	75.00	675.00	
0078	70 - Bordes, Peter	10/27/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/2/2023	2.00	75.00	150.00	
0143	80 - Boynes, Clinton	10/3/2023	4.00	75.00	300.00	
0143	80 - Boynes, Clinton	10/4/2023	5.00	75.00	375.00	
0143	80 - Boynes, Clinton	10/5/2023	2.00	75.00	150.00	
0143	80 - Boynes, Clinton	10/6/2023	4.00	75.00	300.00	
0143	80 - Boynes, Clinton	10/9/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/10/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/11/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/12/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/13/2023	4.00	75.00	300.00	
0143	80 - Boynes, Clinton	10/16/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/17/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/18/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/19/2023	9.00	75.00	675.00	
0143	80 - Boynes, Clinton	10/20/2023	4.00	75.00	300.00	
0143	80 - Boynes, Clinton	10/23/2023	11.00	75.00	825.00	
0143	80 - Boynes, Clinton	10/24/2023	11.00	75.00	825.00	
0143	80 - Boynes, Clinton	10/25/2023	10.00	75.00	750.00	
0143	80 - Boynes, Clinton	10/26/2023	1.00	75.00	75.00	
0175	84 - LeBreton, David	10/23/2023	5.00	115.00	575.00	
	went to site met with Co Yeild	I for start of Asphalt par	ving to do Qc a	nd check		
	Totals		153.00		11,675.00	
	Total Labor					11,675.00
				Total this	s Phase	\$11,675.00
				Total this	Project	\$11,675.00
				Total this	Report	\$11,675.00